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(2)

SECTION - A/ - &S/ & - 1/ - FErll/& - W

For each question given below, four answers are given. Out of four, only one answer is
correct. Select the correct answer :

o fisthr o sifEbT Seq i sz BIRtR fooss m@ uing uw S99 B=
mﬁm@%@m:

ANea 4afsf ervrr sff aw Sa7 el wtRl v foew Ta s 9= T39I
8% $8d @Ug 16|

TRt AEm BAEE A e A E ) At wee Sl Ae e T
frmraEt s A fegm

4 feu T ¥ W ¥ fa 9r sw ke e E 1w A @ ew @ SRR ¥ T I A
gf1e :

(a) 10 mL of a solution of NaOH is found to be completely neutralised by 8 mL of a

given solution of HCL. If we take 20 mL of the same solution of NaQOH, the amount
of HCl solution(the same solution as before) required to neutralise it will be :

NaOH && 91T 10 mL @ HCl Z@ @B/ 8 mL F=sjefacst aifirs oeg 1 afc
Q@b NaOH 5a9 20 mL #18 @m Wifify oifis sfaater wstt HCl maa (St
TTe WTFoT 51 stfamre 29 ¢
NaOH &34 10 mL HCl 5137 8 mL Jesjefasl e+fire ata | afic et 9$ NaOH
TET 20 mL 4, St apF o1 T Ty ST HCl 3ted (40 7o uey
TJ) SAfania =1 :
NaOH Tferama #FRT 10 mL 8 HCl Tfeema AFEH 8 mL 31 31ge WSa Serdr |
9fz s T@ NaOH Tfeemafs 20 mL @t af= & 7een @awH M4l e E
HCl 7feremafy (famif a1ft w@ nfaema) faare s -
NaOH &1 10 mL @4, HCl ¥ 8 mL faera & qoia: 3o @ < &1 afg &a
NaOH % 38 faerad 1 20 mL & 91 78 REH 0 & fag HC1 & 3468t fasa =t
et Ten 3 aravawQ Entt ?
@ 4mL @) 8mL (m}/w” mL (v) 12mL

(b) Which of the following methods is suitable for preventing an iron frying pan
from rusting ?

@@11q BT (iron frying pan) QA WINGE 4414 At IBR I TR AT Tafs

TAgEF =3 7
G A1 ©TTT WATE YA (ATT T IS (A ABA @1 Awhoft ST 7

T T SRS AR AR Saeraa e A AEE WeerE -
A ¥ WEN 4 (frying pan) A 5 ¥ @=m F faw e 7 {2 @ fafu s §2
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(3)

(i)  Applying grease
M Iz o
st = I
pisk MeEe)
PIEASUIET
(i) Applying paint
32 AT T
T8 [ I
e FIATT
Yz T
(i) Applying a coating of Zinc
fsrg et W
2F-9F AT o
fomf ot S
S =+ Ta Fget
(iv) All of the above
QT FHLEAT
GAEd SIS
HIBIERICE
FHR & it

An atom has electronic configuration 2, 8, 7. To which of the following elements
would it be chemically similar ? '

(Atomic numbers are given in parentheses)

QB! AR EFGA [T T2, 8,7 | TER QNIRRT @HBIE BTt XA
IO AP AT 72

(FH714 foote Armfes seamre far )

Q2fG A RETRGT R 2@ 2, 8, 7 | Fv AerewTa @MiGT W 99
ATATS AP AT

- (FEAR TG AR TSN Rl 30rg)

HIH =R FelagAi T e 2, 8, 7 | M@ TfeHaTRR A |fq
TR TREAEE 4T ? (33T TR smfsae 2Fm )

T AT 1 TRk forat 2,8, 7 %1 et ¥ forg e & vy swadt v WA
B2 (T W Frew ¥ @ T )

@ N@ @) F(9 (i) P (15) (iv) Ar (18)
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(d)

(e)

(4)

Anaerobic respiration takes place in @)%
TG P1F 7eufte o1 ¢ El:ﬁ‘l.'-_l
SIS WA 72uibe 24 ¢
IR tafe Fiemm™ smdwEa SR -
HATGEIT TIEA T §
(i) Mitochondria (i) Chloroplasts
nRE sfge #'3U18S
TR TERG IS @ IAIE
HIGE "HGAA T T
RECEaET T &
(iii) Nucleous (iv)~ Cytoplasm
FERETES - €18 b G Ba G
[COR [ T4 FEAIET
fafafaeaE fafa=aea

Which of the following disease is caused due to the insufficient secretion of 1
thyroxin hormone ?

G (FARY @15t NI 290’7 g s wfis @y 9@ e
Mea @Aafe @t ARARFF 3 Sy Afmna sfas 71 30T o [/7
TR A WG 9 41e R eR aenyTE faarea fafifafy ararg <m ?
e A | = | W, AR weie S SegE T Y v Y A A

(i) Beriberi (i_i)/Goiter

wfyafy S1FeT 19t
W EEGNCID]
@R Tl
aa-ad gt

(i) Diabetes (iv) Dwarfism
SRty oIS
TR WS
&R el
YT CIRIEE]
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(f) If a cross is made between the plants having TT (tall) and tt (dwarf) genetic
composition, which type of plants we will obtain in the next generation ?

(5)

ofi femta s g4 (TT) =% s1o (ﬂ){@mmﬂeﬁqﬂﬁmm,ﬁw
SSY S SN (@1 4799 51y 49 7
afi Rt sfgfy et (TT) wae v () & SMCRI W& ATAT oAl =,
FHIAST G IL0T T F LA SR A7 |
Sife Pt remg Tl (1) ST TR (1) T Ferhi SRS SIS AT S ST
At e S m et farewi WA 2
Ifg w8 9 (TT) 31 o e (tt) T FeTo e A e e F w2

()

(i)

(1)

(iv)

C3-51-B20-GS

Tall (TT) and dwatrf (tt) both

8% (TT) ¥ BI°9 (tt) T 4399

=81 (TT) W32 4FIT (tt) 52 4L
TSt (TT) 3 Mer™ (tt) AT amt
i 99 (TT) ot & Y (1) S TR H
Qnly tall

e 84

e w8l

|ifer 7St

Fad @a

Only dwarf

e B

3l I

e merad’

Fad a1

None of the above

8939 (FIAT 439E2 T

TA@T (FIAT YAAAR AW
AT A 7T

IR F H off T
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() Which of the following lenses would you prefer to use while reading very small - 1
letters 7

LT F NF ArARR Afpate gt PRI @177 IRTT Ffaate [uifaar?

SR fraT firar SrereRG! wEAl 9TE™ TEEE B3AE =i 3" Mt aaa! anEa
A ?

HEd BIR-BIE AL ) g TG A9 F § | :F W A9 w6 H?

(@)

A convex lens of focal length 50 cm
50 cm T&1y (A TS (FHR

50 cm (TP A TJE (@Y
50 cm ' SIRYRM T8 GO A9
50 cm HIFT T H T I9d 99

\Eiﬂ/A convex lens of focal length 5 cm

()

(iv)

C3-81-B20-GS

5 cm T'FR (A TSI @R

5 cm (TR Tl B @

5 cm W 'SW THUEM 19 TW S
5cmm@?ﬂ@3ﬂﬂﬁﬂ

A concave lens of focal length 50 cm
50 cm 'R AT Hqee G

50 cm (FIFT ATdq Sdwer T
50 cm % 'FTH THARH Y Glew o
50 cm WIHH T F TF ofaqe ofF

A concave lens of focal length 5 cm
5cm$’ﬁ2ﬁ‘iﬁmﬁﬁ7@ |
5 cm (I R SweT @7
5 co F'FE AARH TR T o
5 cm RIFH §0 9 TF 38T9 ofg
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(7)
(h) Thechange of focal length of an eye-lens is caused by the action of the
w’rﬁswﬁcﬁmmwmwwmﬁﬁ@%w ?
(BITAR I ST A S (BTN (-9 G Toder AR =
SR T S ST e A A T SRS S e ?
A o R P g0 § siada fea s R _ 1

() Pupil (i) Retina
539 1Y Hfiseit
oA Wi st
frafirs o
Tt g gewa g

(iii) Ciliary muscles ~ (iv) Irs |

T e o ' 539 ofT
(i) Which of the following terms does not represent electrical power in a circuit ? 1

TEF @ AP Epfes wet ot JeE e -

Awa @A A0 @Apfos wrer Fodt 9 /17

T = T e Wieereft it el fefierm 2

et & % 1 v fore v 3 R TR ) P 7 2
ﬁ_,/[kz (i) I°R

() VZ/R (v) VI
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()  Which of the following constitute a food chain ?
oo STEY T (@A AW [T 5157 I 7
T STafis EHSET A4S [V 107 FE?

TREE 7@ T A s s At g 2
f=1 3 4 F17 MR swen F i 5 ¥ 2
(i) Grass, fish and goat (ii) Goat, cow and elephant
1, Mg ST e TSI, F SF ST
qeT, 9T Q3L RIoieT wster, siF 93g 3ifs
), 71 3R &R S, TR AR 7T
HIE, A a9T S T, MR A1 BT
{ﬁycrass, goat and human (iv) Grass, wheat and mango
qf3, RIS S AR ¥, (92 we S
I, RIS QIR AT 91, SN Q3L =W
T, e S AT TIieh, T o) ot
1Y, 94 ad qd HI, A qu1 3

SECTION - B/¥ - ®Isf/ 3 - "I/ - |EA/@ - 90T

Calcium oxide reacts vigorously with water to produce slaked lime (Calcium hydroxide).

Write the chemical equation of this reaction and mention the type of this chemical
reaction,

wﬁmmmmmﬁmﬁﬁ%m(slakedme)mﬁﬁ@m

RG FTRG ST I | 9} Rfearbm ammfas s@eaad fivdr one ffeadr ootg
Brard 391

memmmmﬁﬁﬂ%ﬁﬁq{slakedhme)m

JNGIHRG ST I | X Rfeafba apmafre el e vge Rfwaits som
S I

mmﬁmmmmﬁmﬁgﬁ (slaked lime) ¥fHAT TR 'FORE
mm;aﬁmmmmmﬁmmmmmmﬁmwu

me%muﬁamﬂwmmgﬁﬂ?@(ma@wm)m
oo Ftar 1 T SHfufRal 1 et it fafae a5 sifvfsrar & wer fafae ?
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3.  Define allotrope of an element with examples.

(9)

SRIATIE BITS GeT B ‘q%&@” (allotrope) T 72 fordl |

TrraTz 930 ANt ‘Imer (allotrope) -9 AT (TCAT|

fafaferstl iR AFAT @i (allotrope) f1 gwRfy fa |

T TE H T A Fret a7 F 9ETH (allotrope) F IO @

4, What is Catenation ? %'EE 1
@@ 16 Q] ﬁﬁ :
@A FE 017
forafaar Are 9212
W (catenation) fFd Fed €7

5.  Why are traits acquired during the life time of an individual not inherited ? 1
I %, SlaATIeTs SIS 31 SRS B/ o Fehota ITTIrheNd 6 datfzs
7207
@G IRT ST 3071 Sfewe! bfafas @fes Rena 3e1sfs sra rear g A1
o7 '

PR EIRE Rfamg fEAarE! 3R g fsaft fas waE 1 sRfeAE s ?
T TS W g Sfa Ferer e ITelt it F Senra 6 e €, = 2
6. Why do Stars twinkle ? 1
o1y foafa a7
s et sw @37
wutEerE! A Rfa-fen @ ?
I 41 feafea €2

7. Translate the following statements into chemical equations and then balance them. 1+1=2

werd ey TIPS SRR Feie fordt S ige 341

e Sfgomz arTwfae FFICTT FA @A 932 FFF Il |

Treraf giue TaEAR FHAYES] fok IR 99y G |

= FuE ) T 9 F w9 § uftafda 3 ggfem s

() Hydrogen sulphide gas burns in air to give water and sulphur dioxide.

WG’ (S RATIRCS PG FifRw (3 A AF GaATd T ARG e I |
FRGICSA FITIRG IYCS e T ST 92 AT TR WS ST IE|
TESOA HIAFESIT aRd WA 2 3 UIAER SRAFEES GHfaRmal |

TEZINMA HeH1Es 19 il 9 F Tg 91 W 9a U6 Howl SR3TFREE a7 31

(3-51-B20-GS [ Contd.
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(i) Potassium metal reacts with water to give potassium hydroxide and hydrogen
gas. _

B g A Gt e i Hokam MRy aRs e Eg eH OR
AT FA |

spifram 4T S e Rfen I AR NGRS 93 PRCGITSH N
SeAF |

Terfeam urqen ¥ REsTeR ST i Bee wEEe AR wigg ST 19 GwisEE! |
Wrferaw Uiy S % wry SN 0k D SEeiaaEs T eeger 19 <t

8.  You have two solutions, A and B. The pH of solution A is 6 and pH of solution B is 8.
Which solution has more hydrogen ion concentration ? Which of these is acidic and
which one is basic ? 1+1=2
TOITE TG A WF B Y5 5 Stz | 57 ATpH I N6 W& FABIpH INF 8 | (SO
&S ZRG (W TRAT Gt @fR7 @G S W @ SR 7
oM XS A 932 BAf6 &3 Stz &1 A 93 pH -93 W7 6 932 %I B 99 pH -9a §i1F
8 | N Witrs TGS Saed Sfivel @f? @A S 93z @@t sFR?
Hif1 SErEEE A 3 B BT Tferene €1 feera A 7 pH 1 3 6 3R nferema B 1 pH
AA1 8 1 ATe TeTeTtaTd egg SA S |sityan Fifgw 2 qea whrgeni o gea ardaik ?
3T9eh I < faer A7 @@ B ) TR ‘A’ F pH# M 6 ¥ T faead ‘B F pH i aH
8% foru faeram A wegor o #t vigm afus 12 390 @ 3 ancitg & w1 21 a2

9.  Draw a cross section of a leaf and label it properly.
Q=T 5T e W19l e o1 Afsea bfes ot
975 oot ewrmn S1s W3e ¢if e ffss wa@r
iR faart 7w E anfE IR S 1A SEd A
T T & WS Fi Fa3 TR qen @it v+t iz
OR /133t /143t / T&T/ terar
Name the green dots contained by the leaves. What function do they perform ? 1+1=2
Ao I CREST R 9w forar | WiEE i o awty 3@
ATSI 1 S s am @t gawE & st 9ol 3@2
foremrgama uFE MYl WAERE F R SEk w T wape ?
ofedi § 9 SR 9 & gl w1 wame ) F e e w@ ¥
10. How does muscle cells change their shape ? 2
TR FrAwE O} Sgpfs Foify wtg 7
e ferd o1 AFfs sy s
fafa faefea TEit af DuEdE 9 299) 2
Yeftg PP HY 7o TFfa ¥ ofwdy s 2
OR /7R3t /=131 /wan/ rear
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11.

12.

C3-51-B20-GS

(11)

What is the importance of iodine in our body ?
TR ¥ SEfeAT gFg 57

WA AR AT gvg 9

S W 3rafeat Mifeey m ?

TR YRR § TREH Y 7 syavasa 2

How reproduction through spores is beneficial for an organism ?
R F9! ICIEBIY TN @IAT 9F ST @ @FEARE SeEE X' AR Y
WYR =TT ILS1a a1 (AT 9T RE@F Ty FTeld SIS 0o AT?
T TS FIoR SR W WIaa G faf grar w i gersn e S e 2
S BR 9 | o fFm weer enifaa B @ ?
OR /A1RaT/ W4t/ T/ vera
How does Spirogyra reproduce ?

=o{ (RS2, (TR ILREIT 7
=S IRLABIRAT Pl LB FE?
TR IEUET WIS R g ?
TIRATEY fFE YRR A W 2

Draw the ray-diagram when an object is placed at twice of the focal length of a Convex
Lens.

Tee (AR OUAE TOT I RIS 9T R I R @it SieeT 41

O3B ST @(-9T [RBT @IR GATQ 90 THRE @4 Gifoa @Wifba swd
Er| .
a1 =9 A AEH FHE TEAE WA A6 ga A o9 A9t aemi e |
forlt Iaer oFe g o wafda 1 forvu st fafi #ifvm, 9@ o ofg & wew it § S
T W e A

OR /7133t /o4t /T&ET/ AAqET

Define power of a lens. What is its S.I unit ? _ 1+1=2

TS Ao AL fordl | 3@T S w3 57
@~ 99 TSI AT/ @Y7 9T SI 9FF HI7

a=af mef gonfy fa 9fF S wrnfear m?

ot ofa %t amman Y wftwfs =g 39t S WS | R?
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13. A current of 0.6 A is drawn by a filament of an electric bulb for 5 minutes. Find the 2
amount of electric charge that flows through the circuit.

OBt T T St 5 fifs TES 0.6 A 2313 7 | ISABrS et (at AP
gt Sl Sferaat |

TG pfes AE o 5 ffTD T 0.6 A 9318 (W1 ISANBre bifeTe zear @HoT
ST AifT @@ I

T Hifec AewT ARan 5 fafie T 0.6 A Tifsc 2eR o | WiaAeTsae St i
greif faai fegm)

fereit faga wrea & g o ¥ 0.6 A faga ur 5 firfe o wofea @t €1 faea oftey | venfed
forega smaw =1 yfemr 3@ Hifsw)

OR /A% /Syt /qaT/ 3rerar

How electrical charges flow inside a wire. Explain. 2
AR worT fooes agfes oM @mEts Aafks e B 3T
93f5 AfRRR fost apfes s Frerm aarfis =7 I F@T
L 3df e ifsem wrten T aidar - 389
forait fagra wftoy & faem omdw 2 varfed en €2 =k Fifswy
14. How can you help in reducing the problem of waste disposal ? 2
THASTATAT SISIHIE FHAIT ZPT BT it s oot 5 3t ?
IS SIS ST T FIC0 T O I 0T A% FAE@?
Nfs, smerrATatt e WA | e AR e ?
1T FHe 19 T w0 w0 F e W oga ¥
15. State two problems caused by non-biodegradable wastes what we generate. 2
= e F1 e Sfafraad smrfiemes o[ et 55t TR ey 4 |
SR e a1 SR e e @ gear 5t sene Sty wE
i ARfS faasnit fanife stfrerfnem s dad S g
TRt QT SR S TR g I St Freftaia geel g s At )
16. What is the role of the split rings in an electric motor ? 2
apfes nies et sghe i fe

@pfes @IbE T 31 G S g 7
T4 Aifsd 7eva fomre i @by 12

e wirex A faw 9@ (split rings) Ft  vifivw &7

C3-51-B20-GS [ Contd.
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(13)

17. Take a small amount of copper oxide in a beaker. Add dilute hydrochloric acid slowly
while stirring and answer the following.

B RFITS ST 2 oTa SHES (711 | RAFRCE) e, A OTe AR ang 7Y 213G ' i@
s @ 41 W1 Tots fimt AT o #417 |
93T Rl STEPIA Forg SRS A1) Rafs Asite Aeie Cifbts A B &g
RGPS @rsr 3@t 9as s @oar i T3 FE!
T o T it FR seEEE o fawe deEEE o e aR @l e
BRS Fe1 T THe It 3 e g9 SRR R el |
o fara g e & s sifearge Ao 1 foer ) fiem GUIEA HR- R o WEgIAD
I T o eyl & s s
(i) What is the colour of the solution ?
AT I8 57
Tafta as G 7
nferafa e = ?
e o s }2? :
(i) What has happened to the copper oxide ? _ 1
'Y TR 6 90rE?
AR JHRG I TCHCR?
HUR FESINE T MYR A ?
FIGT HTFAIES T F7 g1 ?
(i) Write the balanced chemical equation for the above reaction. 1

@973 fifFantr IR A8 (balanced) THRGE ANFINOT foTan |

Sawr ffeufia smr 8fTS (balanced) armafss sfteadft cercar

T fETanageRM gra arTg TEEAf gemEE! fer)

IV TaETE fvfra & foae e dafom Tamafies T fafaa)
OR /7123t /=24t /& / e

What is brine ? What is the product formed when electricity is passed through
this brine ? Write the balanced chemical equation for the above reaction, 1+1+1=3

JI3A T @MET? WX JRAT AR R 2fEs Ffawa 6 om Seorm 577 goaq
fefFantR anT 8l (balanced) IS SFwaccsr forar |

JRT @ ACT? QR IRE 995 frw fagie aaifie sara S oomd Seom w7
g fafemfts &% TS (balanced) TR Sfegaft @t
A WG g7 A A Norel vifsem R digdsen m g dutva? i
fFTNYRER yraE T9g TEEAR gamgeE o

C3-51-B20-GS [ Contd.
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18.

(@)

(b)

C3-51-B20-GS

(14)

A solution of a substance ‘X’ is used for white washing.
QBT #Mr ‘X’ T 5aF 391 18 AL (white washing) IRZIT 4T 27 |
PG T O ‘X TRW 43 TI9 IRRE ST 2L
T 7 ‘X’ 1 nfeeEg! TR TE e SR @
it g ‘X ¥ faerad 1 S9E WS R F foa B R
() Name the substance ‘X’ and write its formula. 1
oy ‘X’ q AW HIE FAAFS fordT |
‘X' GBI AW (@ 92 GBIF FPS @A
X qa {3 9f woEmaE) o
o= ‘X F AW ae 76 ¥ fafaw)
(i)  Write the reaction of the substance ‘X’ named in (i) above with water. 1
AN TS (1) © Bferfrs amrd ‘X’ @ war &ferardr frar
X BoR {(i) @ Sfafye) swer i Rfef® @t
(i) 3T W (X gaETsl 9 e o
TR (i) ¥ @ 93d ‘X =t 9 & Wy Afufwa fafe)

Identify the substance that is oxidised and the substance that is reduced in the 1
following reaction.

oe feforamire sifve se feifas arar g fare war
Ticea Rfrafors sufie w3t Reifs z6at mdaEn s e s@n
R fEsaeaE SR T SRR qEreR faeraty e
=1 sifufeean f Svafa am srvafye veel #t veam Fifvw
CuO(s) + Hy{g) - Cu(s) +H,O(l)

OR/AfXat/wrat /warr/ sgay

A shiny brown coloured element ‘X’ on heating in air becomes black in colour,
Name the element ‘X’ and the black coloured compound formed. 1+1=2

5T SET 511 38T AN °X’ T IYS S T A L5 AT | T X’ 1% Teotn
AT F'e 38T (ASIO 7w ot

qﬁ@wfmwﬂ@a’x*-@mmmmmmﬂl ane ‘X’
38 BT 3BT I F0eT TSI A erran)

WWWWW‘X’@WWWWWI Tfeg=n x f1
AR WS Tiveim et gkt ge e k

u_mg’tinmwaa'x*ﬁargaﬁ‘mﬁxrﬁlﬁﬂﬁmwazm%nmam%l
T T X A0 30 T T F e 71 7 w9m@0)
h.

http://www.assamboard.com
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(15)

() Why do we apply paint on iron articles ?
114 I/o 8T Areret fis g g
=R ST e o @ meT 7
RSl I TR SERRE T G W S HJ 2

dre il a5gali 1 7m de ¥4 +a &2

19. State Modern Periodic Law. How could the Modern Periodic Table remove various
anomalies of Mendeleev's Periodic Table ? 1+2=3
oy TS g feran i st sfiqe o arefTes g s ¥
SeTERE e 5 afafke
SIyfs *=figs 7@t @ s g el onafied e S A
wirafa Fene ga swfee
e SR et fork | e ST o e ARt ST o e - T
TSI SRETGH] SR ?
anyfre sed fraw 7= &7 mgﬁammmmmﬁmaﬁmwﬁﬁ
fafay fagnfadi =t R fm 0?2

| OR /1%t /=431 / T8/ AT

What is Newlands’ Law of Octaves ? What were the limitations of Newlands’ Law of
Octaves ? 1+4+2=3
frdrrrons wiEs Jawr 57 oy wgs Jas MraeiEr & & oifier?
SIS - 97 ST JAft 17 RS (-a7 SBF JCaq Memorafe $t F Ker?
Pradiveafy sy @fua W ? Freeveaft ey @i el SEEw 9 11 |1 ?
=ete T 3T fagid 71 &2 S F v fugid i wr diend €2

20. What is Pollination ? Is there any difference between pollination and fertilization ?
How does self-pollination differ from cross pollination ? 1+1+1=3
sttsTCanSH 157 WWWWWWWW? - QIS ZoT
SIS, AT (TR Tt
SIS 17 AN Q3¢ FAEsE W @At Ay aeg $re 7-Aqrsas
Boq A T T @7
B A W2 T A SR T SRt A WS R 2 gRgE g e
_a@aﬁmmmmﬁwawﬁﬁtﬁmm?
g & 2 o feRan SR freem o o fumm R 2 memﬁ%ﬁ
TSR fir= 2?2

| OR /133t /=43t /& / 39T
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How does menstruation occur ?

Ao (AN AU W7

Wpbw el MeWlte |7

WS A& S ?

Fgee 3 s S8 fa 2

21.  What factors could lead to the rise of a new species ? Explain. 1+2=3
s abt siofsg Bevifse Ftare 5 s Sotmee sifagdr @ BT $1T |
Fgd dSifed S 20 o o 6 T wAPE? - I |
TN RARR TR T gt St el ? $E@d |
A FH A F ¥ N Ty F I A gEEE A E 2 A FIE)

OR /133t /Y31 /TET/ 37T

What do you understand by geographical isolation ? Will this be a major factor in the
speciation of a self pollinating plant species ? Why or why not ? 1+2=3

TSeATSE cal @ e 5 gene F-wmaet 01 Sfiw el «b I ]
AGIRoPETT QB A FIES T AMAE? 7« 31 5w w1 ?

ONNAFSI 28T SAIAFAT F0E I @RA?  F-F71eErst 61 9o Ten asifon
foota Tg+ gunfer e Fate @Nenfes Rftms! @9 6 o A7 @ TR @
7

TAAR ST WA g T 1 g ? 58 gfE ga i anwl /it s Srairae
TR ST ST /A TR S8 7191 2 /] OE JH a1 ?

sfrmiferer guator § F1 w9 § 2 F e gyee @aafia wivis ¥ W % wify-
I5HA 1 W@ FRU 8 FFa1 7 i a1 =i A8 ? .

22. Name the parts of the human brain. State the activities that are controlled by the
cerebellum. 1+2=3

s TREFE SChIRT AW ferdt 1 oofataeiig wrat fafis faaenoiy e @t

A T TSP AW (@01 Gifgencg arat frafis fearsamys s
@

wrfaf Al aereRi g for ) SRSt aremsTn e @)
e wferss & 9 % W fafan sTAfRTes g it firanstt =t fafay
OR/71%31/ St/ qan/ taan
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What is auxin ? How does it aid in the growth of a plant ?
i 2 QT 9Ted e ¥ (@ wE 78 7

wis §7 9B srwa ghace aff e smm @2
e M2 wiw faw Sema 3 et Teg @ ?
SR 1§ ? a5 U Wew R ghe H HA e o ¥ ?

1+2=3

23. What do you mean by Dispersion of white light ? Draw the ray diagram to show the

dispersion of white light when passes through a prism.
9T Coftad Fgaet i o qomry Prowa arn 3ot (oitae famgaers afufba srese &4

1+2=3

AW SCArE favgae W $ @R o w@t T Serd [ogacta afafba SEd

AT

TR AR STEERAT g e w g 2 et < TR ARif arsear e gemi s |
A7 TR F fadqw b woew F &7 wid % fon R vad v w1 g & i

AR |

OR / 7i¥at / =r¥at / qar / e
What is Presbyopia ? Draw the ray diagram to show how Myopia is corrected.
o forn fs 7 faet wfRoselr Jermea oryaR afaia =T 3|

et §17 faat gfeaserd e @R afnita SES
g ' 712 @y U gEi w9 9E) e Jed I wemi enfa
w0 ggftear # ¥ 7 frore-ghe S & deiua i foand 5w f @ s )

1+2=3

24, Write the S.I. unit of resistivity. An electric motor takes 5 A from a 220 V source.

Determine the power of the motor and energy consumed in 2 hours.

1+2=3

@14 S.1. 9FS forar | «br (apfed qBrE 220 V 891 7R15 A 4315 570 | I0I(0R FHO!

IF 2 TUG & 797 391 R Sfersat |

@THEd S.1. 9P (@ATI WD Rpfed (ihd 220 V ST (@ 5 A #91% (701 (1Hafoa

el wae 2 901 «ft 3w 39t *fe @3 F@rn

T ¥y .1 gFfe fer T wifsera wew W 220 V AAREE 5 A S @

T R 3T 2 H=EE a9 SEaiE amr v fag

im0 S.L U ¥ ? G e wie 220 V 3 fagd 99 A 5 A fe uw o R

et 1 wfaa fruifa Fifae qen 2 92 9 Hiex grn Iogaa et uitwfem sifaw)
OR / Af%at / o]t / Talw / rxar
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What determines the rate at which energy is delivered by a current ? An electric heater
of resistance 8 () draws 15 A from the service mains 2 hours. Calculate the rate at

which heat is developed in the heater. 1+2=3
A5t WRpRew 9y e 441 e 314 R Freld a2 8 0 @va bt Gapfed peTiR

2 9T BT (W3AT ofd1 15 A o]7R @9 | peillis o Sedd @ 39 Sfasar|

93f3 tagfss darg s @ TiEd 77 Hera e 7 8 O @i 93t Jpies

pet (R0a) 2 951 serie (W37 (VT 15 A o_1E G| penfocs (ADR) oref Sests 28T

29 Q@9 FEl|

T difsera Trera B i e are e 2 8e Hifsrs gem sraf S 8 0 99

2 ST T G 15 A Rifsta 2R a e | e S8 g fag shrare) g |
forega wae g1 uged R S R X Frufor $R A E 2 8 0 whriy w1 forge @ fawga

o R 26 7% 15 A fag um @ &1 @t § 3= 3991 91 X e Fifaa

25. Explain the main principle of an electric generator by drawing a labelled diagram. 3
fofEs fbuq sams abr apfes @awebes 3o fifsg aray sar |
fofes foram s W3t tapfos mEtEe gor Sifs ama s
AR e B Frami e T s S e i ade |
Aifsha @ WiaH fdt faga 9@ (generator) 1 qa fagia W i)

26. Can any sources of energy be pollution free ? Why and why not ? State two limitations

of the energy that can be obtained from the Oceans. 1+2=3
e T Qb1 oF §F W NG ? 5y nE 3 fsr @aaiE e TEOTEI gt A1 o]t
heq 701 Moeaet forat

a3fG Thea ST A3 [T @ A1 $7 @ AT I @ 9 A9 UZPE (W0F o1
"fer 4t et @

ufeaft SrafEsrn Yrard Y i G i a2 TE e e ? AUER R
T TAra vifFaft @93 faaral fem

T FIE Fell T T THKI & THAN L7 7 ok i A 2 TEEIR | W 2 g el
Fefiat i S Hrand SaE |
27. (a) Name two metallic oxides which dissolve in water..
ﬁ@ﬁwm‘iﬁm@wIanWMWCyw
Sie BAge 263 9f6 4o SRRt A T4
< Tfea J uTg ety § for
Wﬁﬁﬁﬂﬁ%ﬁ%mﬁﬁwml
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What chemical process is used for obtaining a metal from its oxide ? Explain
with examples.

ARG AT 4Ry ooty Hieater fs IoTfirs oafo A 391 W7 AT G0
QT FAT |

SRS (AT Uy BT FIF S 5 AT Iamfo dTIT A 7/ BARITR
[T BT |

B yrga a1 s S A T eEe e e s ? et
TR SEa |

%ﬁmmﬁwm#mmmﬁmmmmﬁmm%?
& SHT T Hifog |

You must have seen tarnished copper vessels being cleaned with lemon or tamarind
juice. Explain why these sour substances are effective in cleaning the vessels.

mamﬁmmmmm(tamrmd)wmawmﬁw
R | AfaReis it sR[te oo I8 RrT IeaE I o ot |

Rl BT A1@ @ A SpEd 1 e Afa Fawe @At T oIt |
AITSTAT AIFIT FICE HISTON IF (@ IV I W JIAH (@0 |

ﬁwamﬁﬁﬁﬁwmmﬁﬂr@éa@fﬂqmﬁﬁﬁm@wm|
T TATERT TS W WIAHARIE A1 TR T 36 |
ST GHY 3 Tl Te g a1 e F T A WIE R A @A) 7E g v
o= F WE H H F g 82

OR / 71331 / wat [ Tan / gar
Identify the most reactive and least reactive metals among the following :
Fee FRNART NIS| A3 ARl @iz SIfFT (most reactive) IAE HGEGE N
sfag growEE fbare #at |
TS (I@ FAEE @FT ATFT (most reactive) QI HIITF W Afag
YIS AT Tl
TETar TR TRRFTEE safgg St W SR wafigy @ Wi agerat
@rRiH |
frafafEad 4 g ifuw sfufmamie ik wed #v sfufifaria wgsd = we=ie |

Al K, Cu, Au.
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(b) Define the following terms with examples. 2
BAECNE Biw BTG AR AT ferat |
CHIRAPTRR AERF e AW (Tl
fafafusii Merara SmwrfT gorfy fet
W T Pttt wt aftmn fafaa
(i) Mineral
afers
RITE]
G
E =
(i) Ore
RIGT
ILaEEs
L@ .
Jges  http://www.assamboard.com
()  Explain electrolytic refining used for refining of metals. 2

P CTHAR I Is KPR AT Pwfocst avmast set |

QT CTHTRT Ty I-ge [g5e «ifaemys «iafsft ey =@t

UITERA WA e arem wHE s fafea i deimE seadt 389 )
tngedl & TR i farg srawe wReRw Wk @1 avi @i

28. (a) Draw the structures of the isomers for butane (C4Hyp). . 1

(C4H,p) o807 smanitars stsoreres it |
T (CyHyp) SAENGTET 157 Ferds e |

faeafs wam somafaei urs wgen anfa

S (CgHyg) F WA  wed fefm 3

(b) What is substitution reaction ? Explain with example.

dAfsgroq fEar s 3@ SHIRITHT, T BT |

ST faters Tl 9<1? fafefors 3

Hferere sfufivan 201 § 2 e S avi i

(c) How would you distinguish eXPErimentally between an alcohol

acid ? and carboxylic 2
ARG RER G al St o TP S —
eI . I foa organg stifigg
mﬁmﬁwqmg%ammﬁm TN MG TSR oram gy
2RI St ofeafy oy FRFTE! AR fafiorm)
mmmmﬁmﬁmmﬁﬁ SR T ¥
C3-51-B20-GS
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(21)

Draw the structures of the isomers for bromobutane.
I RETR i sy s st
WIRSTAR safaem b7 Sumrs 315 |

' fageatt wam spemafuwd o wEmR )
A & T # s fafim wif

How does ethanoic acid react with carbonates and hydrogen carbonates ? Write
the chemical reactions.

AT s FREE TF TG O DT s e e wwe e
RfFmam forar |

e e FIHED 932 IRTGISA @G Fw dre ffear sw@?
e fRfFmamt @

3UTfaE TS FEAT A LS FEEE Wi g e 2 TEEi
FrrenarswrE fe) |

TS IS wEAE TE eReA Feae 4 F afufrw w2 19 TEEfE
gt fafew) ‘

Explain the mechanism of the cleaning action of soap.

5iTatae ufet SMeEET AfFdl (cleaning action) I5THIT 4T |

QAT 77T “ifaxiEa AfFal (cleaning action) IS FTAT|

FEAR GEEE T 9@y |

WA w1 gEE whE #t Trafafy e

What is ‘Biological catalysts’ ? Name two such catalysts. Discuss the roles they play in
our body. What is the function of the hydrochloric acid released by the gastric glands

into the stomach ?

‘tod SETFRR’ 7 G YO SqEie W o SR @ies 3@ gxd w1l
gt SeeTedr 340 | Arpafim aar AFEEre fefie o Ry sfes it o f60
rod SRLEaRT F7 aF g6 FAOEET W @t Swiew 1A 9sfa gz w3
GRRTE SICEIsAT ITAT| AR At Aerdies s 2o wige smftes
I 7

fEanit YA 12 Salfe M gverami= F for 1 Wi eiva Serfy st
a9 S| s fSdEERe) aerE AR T s i ufasft gt

o?

S IoE 1 82 T 9 S & ™ fafan gai ik A gt yfeed w ==t w1
sy ) fufe # Sufea Stex wiferdl gr1 Enfam SRR o1 1 11 g &2

OR /7131 /=143t /&N / ANar
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How is food transported in plants ? What are the differences between the transpor t of ae
materials in xylem and phloem ? f&? 3=5
v o MR @R NI TH 7 tﬁmwwmmﬂﬁﬂqﬁm

f&7

SRR o TR A3 SIS WH? TRETH Q3L GFITAY Ha3F “ifasred Arfavafe
7

SRR T TR T S 2 e 3T SeREE GaThRT IMUR RS ERETRR A 2
W N e 1 e F B $ 7 e qo weingy ¥ ugrel & aed A Jar A 2

30. An object of size 70 mm is placed at 27 cm in front of a concave mirror of focal length 5
18 cm . At what distance from the mirror should a screen be placed, so that a sharp
focussed image can be obtained ? Find the size and nature of the image.

18 cm TPy, (T Hdwet KA QYT FYIS 27 cm 5390 70 mm HTHET IF 901 I
R AAALAT ofat feue ETe A QT IfTeT st =iBls 5 cuat afsfm abr
o ARy dfsfwa srer we agfs fda T o
18 cm (FTPT (T Q36 SRS WA AWM 27 e FATG 70 mm NI OFTE I8
Y AR wofAT IF IO TG 9FT M I GTGre AT 5199 26T 9T(h
dfsfe sraat ara?  afsf o v3e agfs oy s
18 co  "HTE TRARTIAI 714 Geia i fomeTa 27 oo AT 70 mm He:fH 9481 [t
T G SR | e WaE iR s e st S e wrEee ?
WG 7et AR smgeEd g | -
70 mm FE 1 HE 94 18 om TIHH G0 F el srwaer g8 & T 27 om @ W @ B
40 A fraft g W el TR 1 T FF 99 W o 1 e Wkt whefia wr e s g |
wfafsa =1 agst awr wfa 3@ Fifw)

OR/1%31/ =43t/ T/ 3tear

A concave lens has focal length of 15 cm. At what distance should the object from the 5
lens be placed so that it forms an image at 10 cm from the lens ?’ Also find the
magnification produced by the lens. What is the nature of the image ? -

m‘amawwmmlscm|mwwrﬁ%mqmaﬂa
SR ATS B9 AT 10 cm [{IS @EHRIE df5Re 9Bt o1bq afag o7 | 7R, TS
xR R fadfy wat1 Afsfedr o3fs fsr T .
WFT SIS @A @IFPT (K5 15 cm | (T A T 7 aﬁmw
mmmmmcmmmﬁaﬁﬁﬁsﬁsmﬂgfﬁy@@ﬁ CFF-*TT’ET;
zam R fiefy swn #fsfefia agfs &1 | -
T GRS AW HE TG 15 cm | S 10 cm AR W T G\'qfa'@'-h
arar AR G ST 3 M R A2 3 ST e S
ety fogt 1 waEty smgere @2
ferelt ararael ofF A PIRE g0 15 cm R w1 iw | fradt 2 W Ry '
9 ¥ 10 cm T W wfafda 732 ﬁnmmqawad?tﬁmaﬁﬁql Hﬁﬁfi}mg;
??

C3-51-B20-GS [ Contd,

http://www.assamboard.com

wod pieoquuesse mmm//:dny



wod pIeoquuesse mmm//:dny

(23)

. T i to the
31. Give two examples of Fossil fuel. How can you as an individual contribute to 124225

managementof;
Karn 3% 901 Srrmact faar 1 qow s AR BB :
FRI THER 46 ST we | G T [ I
AT T T e fafefer @) R e g9 fean- |
St $vA F A e A mmﬁa#mﬁmﬁﬁ%ﬁﬂ?ﬁwﬁm%m
¥
(a) Forests and Wildlife
A SF I
39 932 TATH
T TR SRS
91 ©d 99 g
(b) Water Resources
1 B
TIEAH=MH
2 g
e qanA
AP SRS @ YA IR G 717
YR St  4ITE IR W
e ararE 31 dE AT faden e 2

. OR/APR1/SIY3T/ AT/ et
What do you mean by water harvesting ? Compare the traditional systems of water
harvesting between hilly areas and plains. 2+3=5

AN NBIF AN 5 W7 AYI BT TF Ao ABVTFT ATCINS AR APTA
TafoX ATSG Pert 3471 | :
T BT WF o B @R TS LA QT2 ANGET TR ATNRANNG ST ABTT
Ao U ZEAT B |
3 R e T R ? TSR SR IR T S REEERE S we
faanfaere 2 Srywar faafaer! q)
el HUEW | 9 F1 THA § 2 g 4 i A a4l F 9w drew # wwieis gkl @t
T Hifa)
http://www.assamboard.com
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